D1vISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: A

61) 7681 = 1 = %) 12704 -6 =
62) 2915 = 1 = 16827 = 2 =
63) 4925 =~ 1 = ) 27150 -5 =
69 559 = 1 = ) 13133 +4 =
65 33429 = 4 = 80) 29440 - 5 =
66) 12149 = 7 = s 62686 + 10 =
01 28445 =+ 7 = 26079 +7 =
68) 58573 = 7 = 83) 22412 =7 =
69) 41484 =— 7 = ) 22042 + 3 =
0 54933 = 6 = ) 17098 =8 =
™ 42450 = 10 = 6 27740 + 3 =
) 6030 = 3 = 1) 45333 + 6 =
™) 48595 + 9 = ) 7529 =1 =
™ 7992 =5 = ) 578 +2=
) 10456 = 2 = 0 6889 2 =

Mathematics: Division - Level 8 - Horizontal - Set 2


https://www.workulum.com

